il

g
=
s
i

1. ¥¥4
B4 SR 7 AR )R B BT R BN S
JBA T NI B AT N

2. EBEAR

1) FHPA JRHICFBTT LB
365 HIfH B Af1 74 4H 18

2) JE1THIR
£ ofn 8% 3H3LH

3) wHwyI

4) FEHBNA

E+sZi@E SN




FEH N

¥4 | B0 TR\ NEELE B ITE AR EAN S E TIEH SIREG S
H H TEBE IR
THH - T - fER] A7 # 4 % OB ORR
FEE I = 109, 352, 220
R 2y 109, 352, 220
G =X 118,200 | ¥+
a1 1Bk
HiHhF AT =X 4,626,900 | HLHFHA
97 )1 (E)=K
FEE IR =X 104, 607, 120 | JEKLE
67 )1 ()X
EE S
(13 )1 (=X
TS D
(12 )1 (=X
W T
(1 )1 ()X
R Re
4 )1 P
I5m = 648, 600
Bistii] = 648, 600
TavsE = 648, 600 | ¥T&E
1 =
B = 693, 005
[ER T = 693, 005
TR A E = 693, 005 | fREACEE
1 =
EREEM (ZOMEmER<) = 110, 693, 825

E+sZi@E SN



FEH N

%lljll
I

¥4 | B0 TR\ NEELE B ITE AR EAN S E HEE ARG S
H H Z DA
THH - T - fER] A7 ¥ = 4 % OB ORR
Z O FA = 1 59, 235, 441
— B PR 2y 1 91, 500, 734
SERSMRS 2y 1 261, 430, 000

-2 - E+sZi@E SN



